
Physics 436

Discussion Week 7
1. Consider the 
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where 
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is real.
(a) Use the expressions for 
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 in terms of 
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derivatives to show this wave satisfies the electric boundary conditions for our rectangular wave guide which is hollow from 
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b) Find the location of the spots of maximum 
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 in the y=0 plane at t=0 for the 
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wave. Compute the maximum 
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 using the real part of the electric field. 
c)  Use the conductor boundary conditions to argue that 
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 and that 
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corner.  Find the real part of 
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on both the x=0 and y=0 planes in terms of
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.    Calculate the current 
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flowing into a segment of length 
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along the wave guide edge at x=y=z=0 as a time and show that it equals the current flowing out of this segment. This explains how there can be currents but no charge density on the corner. Make a crude sketch of the surface current flow along the x=y=0 wave guide edge.

2. Griffiths problem 9.27

Page 1 of 1

_1285129373.unknown

_1285178451.unknown

_1285178487.unknown

_1285312441.unknown

_1285129479.unknown

_1285129611.unknown

_1285178370.unknown

_1285129595.unknown

_1285129401.unknown

_1263792016.unknown

_1263826265.unknown

_1264063470.unknown

_1285067639.unknown

_1263913634.unknown

_1263794090.unknown

_1263791995.unknown

